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مؤسسة الإمارات للتعليم   –وزارة التربية والتعليم    
مدرسة البدع للتعليم الأساسي والثانوي    - مكتب العين التعليمي     

معاال الصف / الثاني عشر    
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  Circle the letter corresponding to the correct answer :- 

 (1 Which of the following 

functions is even ? 

 

 ( أي الدوال الآتية زوجية ؟ 1

 

       𝐚)   𝒈(𝒙) = 𝒙𝟑 − 𝟐𝒙                                          𝐛)  𝒈(𝒙) = −|𝒙|          
    𝐜)   𝒈(𝒙) = 𝒙𝟒 − 𝟒𝒙                                          𝐝) 𝒈(𝒙) = 𝒙𝟒 − 𝟑𝒙𝟑 − 𝟒 

  

Use the shown graph represented 𝒇(𝒙) to answer the following 

questions 3 , 4  :- 
2)   The type of discontinuous 
of the function 𝒇(𝒙)at 𝒙 = 𝟏    

 3 ،  2في الإجابة عن السؤالين  𝒇(𝒙)استخدم الرسم المقابل الذي يمثل بيان الدالة 
 
𝒙عند   𝒇(𝒙)( نوع الانفصال للدالة 2 = 𝟏   

       

  (3 The intervals of 𝒇(𝒙) is 
increasing  ………. 

   𝒇(𝒙)(  الفترات التي تكون فيها الدالة  3
 متزايدة

 

        𝐚)  (𝟏, 𝟐)  , (𝟐, ∞)                                       𝐛)  (𝟎, 𝟏)            𝐜)  (−∞, 𝟎)                                                    𝐝)   (𝟐, ∞)   
 

    (4 If  𝒇(𝒙) = 𝒙𝟐 − 𝟑 , 𝒈(𝒙) =√𝟑 − 𝒙    , 𝒙 ≥ 𝟎  find (𝒇 − 𝟐𝒈)(−𝟏) 

𝒇(𝒙)( إذا كانت  4 = 𝒙𝟐 − 𝟑 ,𝒈(𝒙) = √𝟑 − 𝒙    , 𝒙 ≥ 𝒇) أوجد  𝟎 − 𝟐𝒈)(−𝟏) 𝟔 b)                                                             −𝟔      a)  
  c)   𝟐                                                         d) -2      

 

Subject : Mathematices  
 Number of page : 7 

Grade : 12 
Stream : General 

a)  Jump  قفزة      
      

b)  Infinite   لا نهائي 
  

c)  Removable  قابل للإزالة    
           

d) Neither غير ذلك        
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5) which is following represented 

function ? 

 أي العلاقات الآتية تمثل دالة ؟ ( 5
 

a)                                b)                         c)                        d) 

 
 

 

 
 

  (6 Use the graph of 𝒇(𝒙) to find 

the average rate of change of the 

function 𝒇(𝒙)  in [−𝟏. 𝟐] 
 

الرسم المقابل الذي يمثل بيان  ( استخدم 6
لإيجاد متوسط التغير للدالة    𝒇(𝒙)الدالة  𝒇(𝒙)    𝟏−]في الفترة. 𝟐] 

 
b)  −𝟑                                          −𝟏     a)    𝟏 d)                                                𝟑𝟐     c)    

 
 

 

 

 

 

(7 f the domain of 𝒇(𝒙)  =  (−𝟑, 𝟓]  and it range =  [𝟐, 𝟔] 
then , find the domain and 
range of 𝒈(𝒙) = 𝒇(𝒙 − 𝟑) + 𝟒  

,𝒇(𝒙) =  (−𝟑( إذا كانت مجال الدالة 7 𝟓] 
,𝟐]  =ومداها  ، فأوجد مجال ومدى    [𝟔
𝒈(𝒙)الدالة  = 𝒇(𝒙 − 𝟑) + 𝟒 

a)   المجال Domain =   (𝟏, ,𝑹𝒂𝒏𝒈𝒆     = [𝟐   المدى     ,          [𝟗 𝟔] 
b)   المجال Domain =   (𝟎, ,𝑹𝒂𝒏𝒈𝒆   = [𝟔   المدى      ,          [𝟖 𝟏𝟎] 
c)  المجال  Domain =   (𝟎, ,𝑹𝒂𝒏𝒈𝒆     = [𝟓  المدى      ,         [𝟖 𝟗] 
d)    المجال  Domain =   (𝟎, ,𝑹𝒂𝒏𝒈𝒆    = [𝟔  المدى      ,      [𝟖− 𝟏𝟎] 

 

𝒚 𝒙 

1.1 0.1 

1.3 0.3 

1.5 0.4 

.11 0.3 

2.1 0.6 

𝒇(𝒙)
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  (8 If   𝒇(𝒙) = {𝒙𝟐 − 𝟑𝒙  , 𝒙 ≥ −𝟐𝟐𝒙 + 𝟏  , 𝒙 < −𝟐    
find  𝒇(−𝟐) 

 

𝒇(𝒙) ( إذا كانت8 = {𝒙𝟐 − 𝟑𝒙  , 𝒙 ≥ −𝟐𝟐𝒙 + 𝟏  , 𝒙 < −𝟐    
 𝒇(−𝟐)فأوجد 

 −𝟐 b)                                                               −𝟑    a)    
    c)   𝟏𝟎                                                              d) −𝟏𝟎      
 

 (9 Which of the following 

represents the graph of inverse 

function 𝒇−𝟏(𝒙) by using the 

graph of 𝒇(𝒙) = 𝟏𝟐 𝒙 + 𝟏 

( أي من التمثيلات البيانية التالية يمثل  9
باستخدام الرسم    𝒇−𝟏(𝒙)معكوس الدالة  
𝒇(𝒙) البياني للدالة   = 𝟏𝟐 𝒙 + 𝟏 

 

 
 

                       
            

                     
 

a) b) 

c) d) 
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 (10 By using  

  𝒍𝒏 𝟓 = 𝟏. 𝟔    𝒍𝒏 𝟐 = 𝟎. 𝟕            
Find the value of 𝒍𝒏 𝟐. 𝒍𝒏 مباستخدا( 10   𝟓 𝟓 = 𝟏. 𝟔    𝒍𝒏 𝟐 = 𝟎. 𝟕      

𝒍𝒏أوجد قيمة   𝟐. 𝟓   
 

b)  −𝟎. 𝟗                                                      𝟎. 𝟗      a)  
     c)   𝟐. 𝟑                                                    d)  2.29   

 

 

(11   Solve 

 𝐥𝐨𝐠𝟔(𝒙𝟐) = 𝟐  𝐥𝐨𝐠𝟔(𝟑) + 𝟒 𝐥𝐨𝐠𝟔(𝟐) 

𝐥𝐨𝐠𝟔(𝒙𝟐) ( حل المعادلة اللوغاريتمية  11 = 𝟐 𝐥𝐨𝐠𝟔(𝟑) + 𝟒 𝐥𝐨𝐠𝟔(𝟐) 

 

b)   𝟔                                                        12       a)    √𝟏𝟒 d)                                                        ±𝟏𝟐      c)    

 

        𝒂)   𝟐 + 𝒍𝒏𝟐                                                      𝒃)  𝟒            𝒄)    𝟐 − 𝒍𝒏𝟐                                                      𝐝)𝟐𝒆 + 𝟐𝒍𝒏𝟐 

 
 

13)  If 2000 AED is invested in an 

online savings account 4.5% per 

year  , how much will be in the 

account at the end of 5 years if 

there are no other deposits or 

withdrawals if the interest is 

compounded continuously 

 في AED 2000 استثمار تم إذا( 13
   ٪4.5 ت بفائدةالإنترن عبر التوفير حساب
 نهاية  في الحساب في سيكون فكم ، سنويا

 أو  ودائع هناك تكن لم  إذا سنوات 5
 المركبة الفائدة م إعطاءت إذا أخرى سحوبات
 باستمرار 

 
 

b) 18210.27 AED                                          AED       a)  2503.59  
 d) 2504.65  AED                                          AED         c)  2502.54  

 

𝟏𝟐)    𝒍𝒏(𝟐𝒆𝟐) =    
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14)  Which function is decay 

exponential ? 

 ( أي الدوال الآتية هي دالة تضاؤل ؟ 14

      𝒂) 𝒇(𝒙) =  𝒙𝟑 − 𝟒𝒙                                 𝒃) 𝒇(𝒙) = 𝟏𝟑 (𝟐)𝒙   
      𝒄) 𝒇(𝒙) = 𝟔 (𝟓𝟒 )𝒙                                     𝒅) 𝒇(𝒙) = 𝟒 (𝟐𝟑 )𝒙

 

 

51 ) Determine the amplitude of  𝒚 = −𝟓𝒄𝒐𝒔 (𝟐𝜽 − 𝝅) + 𝟒 

 

𝒚 ( حدد السعة للدالة 15 = −𝟓𝒄𝒐𝒔 (𝟐𝜽 − 𝝅) + 𝟒 

      𝒂) − 𝟓                                                          𝒃)  𝟓       𝒄)     𝟒                                                            𝒅) 𝝅𝟐   
 

  (61 Evaluate   𝐜𝐨𝐬−𝟏 (− √𝟐𝟐 )   
 

𝐜𝐨𝐬−𝟏( أوجد قيمة   16 (− √𝟐𝟐 ) 

     𝒂) 𝝅𝟒  , 𝟑𝝅𝟒                                                      𝒃) 𝟑𝝅𝟒         𝒄) 𝝅𝟒                                                                𝒅) −𝝅𝟒    
 

71 ) Find the exact values of  𝒔𝒆𝒄 𝟕𝝅𝟒  

 𝒔𝒆𝒄 𝟕𝝅𝟒( أوجد القيمة الدقيقة للدالة  17

 
          

 

 

𝒂)  √𝟐𝟐  𝒃) −  √𝟐𝟐  𝒅)√𝟐 𝒄)   − √𝟐 
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81 ) Which of the following is not 

equivalent to 𝒄𝒐𝒔 𝜽   

when 𝟎 < 𝜽 < 𝝅𝟐 

   𝒄𝒐𝒔 𝜽 لا يكافئأيا مما يأتي ( 18
𝟎علما بأن  < 𝜽 < 𝝅𝟐      

  𝒂) 𝒄𝒐𝒔 𝜽𝒔𝒊𝒏𝟐𝜽+𝒄𝒐𝒔𝟐𝜽                                          𝒃)  𝒕𝒂𝒏 𝜽 𝒄𝒔𝒄 𝜽                             𝒄)  𝟏−𝒔𝒊𝒏𝟐𝜽𝒄𝒐𝒔 𝜽                                                  𝒅)  𝒄𝒐𝒕 𝜽 𝒔𝒊𝒏 𝜽       

𝟏𝟗) 𝐈𝐟 𝒄𝒐𝒔𝜽 = −𝟏𝟐𝟏𝟑    ,  𝝅𝟐 < 𝜽 < 𝝅   find the exact value 

of  𝒔𝒊𝒏 𝜽   
𝒄𝒐𝒔𝜽   ،( إذا كانت  19 = −𝟏𝟐𝟏𝟑 ,    
   𝝅𝟐 < 𝜽 < 𝝅       أوجد القيمة الدقيقة لــ 𝒔𝒊𝒏 𝜽 
  

        𝒂) 𝟐𝟓𝟏𝟔𝟗                                                           𝒃)   −𝟓𝟏𝟑   
       𝒄) −𝟓𝟏𝟐                                                              𝒅)    𝟓𝟏𝟑   
 

20) Find the area of sector 𝜽 = 𝟔𝟎   ،  𝒓 = 𝟐 𝒊𝒏 

𝜽 أوجد مساحة القطاع الدائري  (20 = 𝟔𝟎   ،  𝒓 = 𝟐 𝒊𝒏 

      𝒂) 𝝅𝟑                                                                 𝒃) 𝟐𝝅𝟑         𝒄) 𝟒𝝅𝟑                                                               𝒅) −𝝅𝟒    
 


